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C%@[UHDD: Qa 4 b L4
261h = 1. 1116 + 300

1 T76 = 5 500 + 276

300 = . a1b6 + X4

| | o
216 =12k +12 (lagt pon-xevo veraSods)
A =212 40 |

BE{ the above i,
v (aoth, 1rrh) = (1176, 500) = (300, 276 )

=(216,2%) = (24,12)
= 1, .
. TZ(.CL laéé hon — ReyD 'TEML?.:I’UZUL = 12.

. APP% fe Eutltdoan alim%’&iu b Lind [ hoTb, 1024 )
Solué'on:

Lotb = 3. 10 +loos — 0
logdh <= 1. 1604 + 20 —3 &
100h = H. 30 + 4 —5 &
Q0 =5. 4 + O

7 T st ron- %evo Yerinds. 76 = &
7 [ 4078, 1038) = 4.
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: Ex}ma.s:S [.l,ooTé; 10&’#) AL [fmm, Lo bsnation :

,go[uh‘on 3
(ho16, 1024) =k
= Jook -~ 50. 20 ba@

look - 50(102h - 1.1004) by @
= 5}- /Oolf —50- }0&4‘

= 51, (Hot1h — B-1624) =50 102k
= 51. ho7b — 153.)094 —50. 1024

=51, 40Tb + (-203) 1024
A [‘z’ma)j, lombination  0f  Lo7b ppl 1024

T W Theoverdt of Arithuiodss :

Lemma : CEMJE’J),
I% D 75 a prite ) P/a,é thon P}?L (» PJb.

-—
-—

Fmoﬁ; M?’)/"ﬂ_
Jeen (pra)= 1,
o TThewe  2xiatA ?rn%fwé o ard B Ateeh Fial,
CP, ﬁ,) = 0{}9—}‘pﬂ, ::/ ‘

> opb + b =b  —y g
Plaph anl plab

=>  Plldpb+Bal)

> Plb (b ®
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Fwncia,man[n), Thotrvend 0% Avidhrselic
Stalerent ;

Ev&’la m-zteae:r‘ N(22) ety 34 a Pinte oy
lan be BxF'reééed B a prodaat 03 Pk, Tho.
'gaa@gnm.gton intp prEnas s Lenzg e M}JLL bor the
pader of The ﬁado*rd.

]Dmﬁ sl P[n),, nidoa pmua Oy Mnée&/:vw
8 4 ;Drocluc{' 0% préuss.

ESH’)UL RIS a prive, the Stalenient P[o?) B e
Moo tiat Ho Saferiet  pL2,PLs, . . PLO M2 tnze,

b, m 73 a ;:m:ua or m len be Exzﬁ‘raééi’o[ﬂé&w
of prinws bor acmik.
MolO  Lonsfdes the ?nz[eﬁe:r £+

I r+1 5 prine, thon PUtD 78 brue.

Ih 4+ 74 Lomposite,, fhen k+) = ab, lohae 924,b2.
L+l

Hente b<7 Wéwu#r‘on 773}

O a4 78 pire and b 3B prive (p

B 2 % prive ard b lenbe e,x;mﬁﬁeafﬂé o product
0 Pairws (6%

(i) Bath @ and b lan b2 ,A)?omﬁéed as /Dmcﬁcz[
0f priues.
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Tn w'a Loe, k+l= & Product of P nis,
PUHI) ¥4 true. ) lokeneves P[‘?)'PB)J,.,P 22 o)l bup

Bepwe ) ba S["mfa incluckion, PIr) 75 tna.
Unfquencds paat |

Lt n=-pp.. .p- Fz,,%.l. G VTR v g,
picod 5 sl Th v % & |
RIPebe Py and BR o B =% 9

> ﬁ/?ﬂﬂ&?g W/ Th B,%)%,_..)?&g wﬂ[@fm

s Ba the above ldm”a'y,[}’é P, ‘I,,,ﬂ,o?,n,?n ae prues

duth tiat Pl9,%,. .9, than p-g. Jo &m’i] '
& A =9, ,;ov dome [, j2pzg

)

B Brh B -ys, % % %, 9 g
i/-\rgafn; bg The dame.  tp)

/@-:’;‘ = o \7[0 A 7
With. 12128 pod 747 [w@{ & % e

Sinte v 28, ﬁonff‘nm"rg like #26, we len Cante]
Qvezf P Wik donte. %I%.

Tes t(—f,‘atabs A4 | on e l};s at Y eod. Thp e
Th  lanmot be bl i @y prines ,

Snte. Pyt 0f Dined  [ap Never &lfp,[a/ a |,

o v=8 and fopro 4z, princes V%2 ., %8

Uo Yo Gue 08 Ho P’?m Poko - ip doneoniy
Hente., The ﬁa&o‘ﬁxaﬁon 0b n P wz%z.“é, 2760?—)93‘ 7%7 o ovoly,
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Least  Lommon Mu}la/)b, (Lem):

T loast tormon mu)lip&. 64 too fo/)?!fm
foleaeyds  a and b T8 e Jast  poditive. | bz'??(-_y
2Pt blo. & both, 4 and b ; T+ T dencled /;(7 [e.]

LomM L{A?rﬁ lanonital ,Dﬂomf)béflf’on'

.[,Qi a a.rp/_ }3 be Jwo }'Méulcve. Jmfeﬁar:s k;uf;_

/0 i ’3 lrnontial fle,ﬁom/)obtz’cbm

al h b bn
AR Rt gt b R R

h)luz,w_ ﬂué >0,
YEPJ) [Q,EJ Haﬂ([a: JPMQZ[AJ,}D.?J ) }A;a,x[a,,,})é]

n

Teooreny :
Let a4 ano[ b be /Joén[f\/e_ /nz’e(ja'ré

|

J Tean b .

: [a j [ﬂ/b)

3 bi _ba bn

Y a, an

oaog et a4 =7 /%....]?L) b=p B, P
be the [lanon?td) duompoéfz‘z‘on 05 a avd b.

Lo [a, laj Max 3, , [9}' Max o b § o § 2, b}

-? L

wd (218) = P“fnﬂnUPwn;ﬂ; b;} M2n §n,bnf

R
nmfzz by U80S, bl adnd Aoy bn G o
as]tusy, g i gl
3 Q:Hvl A2 +b 4n +hn
o A A )
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LY Gy

v [a, bJ [ b)

Uéfrg the. carenfal Aotomposikors of psp aed 2575,

SD-ZLLEOD:
10650 = QX525 = Qx5 X105
= AXEXE XA '
C R | |
= 4 55 )(3)(7
= QK3K5 x'7'

O5Th = QXIQ8T - gzngxa-z?
= IXx3 X8 X/HE
2x3 x1 %13

' )
=2 1650 = o?';; 3l X SQ?xT x}lax‘)é’b md
) @ 0 d !
57 =9 8 x5 x° xy  x8

7[’050,&571J Mmf"’j ”f“xf"-?] Maxjo, 3§ Max fo, ’jwz;a;
5 7 PR

J @ 4 )
=3.3.5 ,7,1.,/3
S2X9 XA5 KTTX )3

= 450450,
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. Uéfﬂj CJSJ,SAO) lompute [asa, 369_7,

(qzl.l)\ 2
O a2 %126 = ax2%x63

= Q?xan?x “f}
3bo = 5180 = fex‘«QX‘i_b
= ;'23)( 8;?;(5‘
> [252,3860) = 3237 - 54

> a2, 860 = 2535860 = 2525360
(253, 3b0) 36

[252, 860] = 2520 ,

N TE 2 aml b ar ')@faﬁva% e o [2r1b] = b,

e Giver: A ,b ae Ye/aéc‘veéj prince..

= [firb)-‘: |
. [dré) = ./,L-é—-—*s .-@—[2——
(arh) /
[&Z}bj = 4b.
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